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corr_Adet_evMon0 RMS
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corr_Adet_evMonl RMS
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corr_Adet_evMon2 RMS
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corr_Adet_evMon3 RMS
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1D pull distribution

+0.09022
0.6629 + 0.06379

0.004244

Mean
Std Dev

Underflow
Overflow

3.355/3

17.32 +3.46
0.1011+ 0.0993
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X2 / ndf
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corr_Adet_evMon5 RMS
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corr_Adet_evMon6 RMS
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corr_Adet_evMon7 RMS
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1D pull distribution

+0.0505
0.3711+0.03571
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Mean

Std Dev
Underflow
Overflow
X2 / ndf

30.91+5.98

Constant

—0.02701 + 0.05669

Mean
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corr_Adet_evMon9 (ppb)
100 X2 / ndf 15.04 /53 H
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1D pull distribution
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corr_Adet_evMonl10 RMS
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1D pull distribution
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1D pull distribution
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Mean
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10.01+1.90

Std Dev
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Overflow
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Constant
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lagr_asym_us_avg RMS (ppm)
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